R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, TX-4231

THERMARTRU

THERMA TRU DOQOGORS

118 INDUSTRIAL DR., EDGERTON, OH 43517

"Profiles"” Series

Glazed Steel Door
w/ or w/o Sidelites

"Non-Impact”
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Therma-Tru STEEL DOOR described herein complies with the 2006 International Residential
Code (IRC), Sections R301 & Ré13 and the 2006 Intemational Building Code (IBC), Sections

1405.12, 1609, 1714.5, 2403 and 2404 {including Texas revisions) subject to the following conditions:
I;

Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

2.  When used in areas requiring wind-borne debris protection, this assembly is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the
IRC and Section 1609.1.2 of the IBC.
3. Allowable design pressure requirements must be equal to or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.
4. Conditions not covered by this drawing are subject to further engineering analysis.
TABLE OF CONTENTS
SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Door panel details
3 Sidelite panel details and glazing detail
4 Elevations
5 Horizontal cross section
6 Vertical cross sections
7 Vertical cross sections
8 Frame anchoring
9 Astragal details
10 Bill of materials and components

74.62" MAX. OVERALL
FRAME WIDTH

-2
oy Wi
R =
~ wif?.*" P i
c-‘:'u';\" ."° .: E "o
Fegh i O g
::‘,J\:- :(_) ™
P g DI
‘JD:\?" win
G-t gty
Aok oo
Huly i s
()‘r';_". EO . ~
Q.. 0% o
3 e, iZ: "ok
Bt x> Feelx
t o hd

} 4 -
Wit

105.62" MAX. OVERALL
FRAME WIDTH

74.62" MAX.
FRAME WIDTH

Lynden F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 335895
Phone No.: 813.659.9187
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F-—11852

Documents Prepared By

15.5" MAX.

FRAME WIDTH

82.12" MAX. O.A. FRAME HEIGHT

—

- INSWING -

—

81.18" MAX. O.A. FRAME HEIGHT
- OUTSWING -

74.62" x 82.12" INSWING +35.0 -40.0

XX 21.12" x 63.12"
74.62" x 81.18" OUTSWING +40.0 -40.0
105.62" x 82.12" INSWING +35.0 -40.0

OXXO0 21.12" x 63.12"
105.62" x 81.18" OUTSWING +40.0 -40.0

THERMA-TRU
STEEL DOOR

PART OR_ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

NOJ[ DATE

REVISIONS

DATE: 08/16/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4231

SHEET 1

oF 10

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 2.2

A
HINGE STILE
(WOOD)
36" DOOR
WIDTH
3

P

79.25" DOOR HEIGHT

5 4
38.47" — =

=

" ——DEADBOLT:
T SEE TABLE

SEE TABLE

PASSAGE LOCK:

LOCK BLOCK 12.5" LONG (WOOD)

EXTERIOR

A\
W\

LATCH STILE /

[WOOD)

INTERIOR

@ HORIZONTAL CROSS SECTION
2

1.22"

21.12" MAX.

DLO. ‘W

1.38"

e

EXTERIOR LITE FRAME
28 BTS

»‘ L-— 3.25" (TYP))

1.22"

] 1
1.38"

2A INTERIOR LITE FRAME

O.C.

BTS

’-—7 63.12 MAX. D.L.O. —-—‘

2.75" MAX. ’

] |~ 325" (1vp)

LITE FRAME

#8X1-1/2"
PPH (TYP.)

0.5" GLASS BITE

5" O.A. THICK GLASS

1/8" TEMPERED
~~_— AR SPACE

N
\ 1/8" TEMPERED

KNOB: SIGNATURE SERIES
KMIBSEY DEADBOLT: SIGNATURE SERIES (780)
KNOB: "F" SERIES (F10)
HLAGE
SCHAG DEADBOLT: "B" SERIES (B60/62) G2).GLAZING DETAIL

Plastic Lip Lite Frame (BTS)

ALUMINUM SPACER

#8 X 1-1/2" PPH SCREW

TOP RAIL
(WOOD)

r

!

STEEL SKIN

(0019 MIN. THK) N}

— AN

INTERIOR

FOAM CORE

(POLYURETHANE -—_

1.9 PCF MIN.)

BOTTOM RAIL
(COMP.)

S

> ©

0.84" —=|

EXTERIOR

/“2"\ VERTICAL CROSS SECTION

"2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

)
=l
<

5
2z | &
TS _
<= |3 @
= o =
xw |2 <
W |5 o
g 7]
=W W =
28

§ (e}

o 5

o a

>
fan)
7}
pd
o
wn
i
=
<C
a
o
pd

oaTE: 08/16/12

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4231

sHEeT _2 oF 10

© 2012 R.W. BUILDING CONSULTANTS INGC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 3.2

073" —f=—n EXTERIOR
A |
b | r
\ o
INTERIOR
STILE (WOOD) . STILE (WOOD)
140" PANEL /"1 "\ HORIZONTAL CROSS SECTION
WIDTH 3/
6.0" MAX, _?‘ Gl
D.LO. .
> Q
o)
1/2"GLASS BITE —=| |~— EXTERIOR
I } - ,
z SILICONE 1
B33, — 1/2"MIN,
. { e SILICONE GLASS THK.
4 s /
V4 —~ II
/
- / 1/8" TEMPERED
T
. AIR SPACE
2 3 | 1 <
o 2
Z2 3 O \1/ " TEMPERED
a = /1) L
n o < ww
o = \3/ ALUMINUM SPACER
#8 X 1-1/2" PPH SCREW STEEL SKIN o
| (0.019" MIN. THK.) b
N INTERIOR \ o
x 1) CLAZING DETAL '
#8X1-1/2"
; PPH SCREW FOAM CORE o
(TYP) (POLYURETHANE - .
1.9 PCF MIN.) T 5
145" = % -
S . 3
< 2 ) & 1.45"*‘ S
(an] % =
Lo B 4
SIDELITE PANEL 5 1 % i ek e d
.__ L (COMP.) L
@ T é _{ \ % I

INTERIOR LITE FRAME 3B EXTERIOR LITE FRAME

3A BTS BTS

TOP RAIL
(COMP.)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9187

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

7“2\ VERTICAL CROSS SECTION
3

w
==
2o EE
ES -
' <)
< |3 =2
=5 g N
0 L s 0‘-5
W Wl o
£ |9 =
2 3o
% L=
5 x| @<
= oY
o k
& <
o o
>
m
)
prd
o
%)
4
-
<
S
o
e
oaTE: 08/16/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4231

SHEET _3 oF 10

© 2012 R.W. BUILDING CONSLULTANTS INC.



"ON| SANYLAINSNOD aNIaing "Mm's 2 wDN@
ZSBLL—4 # NOLVMISIOZN J0 ILVOIdILNID SNOISIAZY TIva ToNl o
SNIINIONI TYNOISS3408d 40 QuvoE SYXaL SNOILYATT3 A8 alxlo| & o
L )
1 e
LBLB'BS9°'ELB "ON ®uoyd : o] = A
S6GEE "1d ODHIDA 0€Z Xog ‘O'd \H\w@. LA TR ~ = P A_T
*ONI *SINVIINSNOD SNIgTINg & o z ) 4_
40040 7331S Sl.l® 5l¢ F .
£ZL¥OLF "I'd SvxaL NIL=YWHIHL HAHEIEIE i
T'd WPIWYSS 4 uopuil :Ag peupdeld sjuswunsoq :12NAaodd sdlaladlscla b
2181 R,
o N0y 0l
o ¥ xiww....u
....\,.....\w.m
. - A
LS. ANOONATE
...ﬁ. 2
R 4
it —\u_o,u.....qm.ﬁﬁnut
e
/J./.H.;../
3
///;/
Py
o
~ =<
/ﬁ 3
- O
z
@ 2
—_
<
> >
=
Ll
//,/
//;/
= = —_
r~ o~
- D
w|wn
b
//,/
> a
= 53]
- =
o
(==
<C
@0 >
=
> o
| ————
,ﬂ/
M,f
[i——

T 'DMP TE-0€ZF-X1\SDUIMEId D8My "a\069T 4d\00LT - TO9T [01d\s19p|04 138(01d\s)33(01d - W\



EXT. SHEATHING

pe

-
e e S ——
EXTERIOR
N\
N
/ &)SEE NOTE 1 SEE NOTE l@
DRYWALL
INTERIOR J

/1 "\ HORIZONTAL CROSS SECTION

Note:

1. Sidelite assembly screws located
6" from each end plus 4 more
equally spaced (6 total).

29

/~3"\ HORIZONTAL CROSS SECTION

\y Inswing shown - Qutswing also approved

W Inswing shown

SEENOITE 1

O

EXTERIOR

EXTERIOR

A\

INTERIOR

/~4 "\ HORIZONTAL CROSS SECTION

w Outswing shown

7“2\ HORIZONTAL CROSS SECTION

w Outswing shown - Inswing also approved

INTERIOR

/ EXT. SHEATHING

--------
“““““

A

/i
\%\

@ 9

/~5 "\ HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33585
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

w
=
)
5
&
20
o
=2 | 3
<= |9 8
= |
g |3 ©
e
=0 |6 =
@ =
. <3
5 gl N
= ol S
S Bl T
& &
>
m
%)
z
o
v
=
Lol
3
o
<
o
o
z
DATE: 08/16/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4231

SHEET _5 ofF 10

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 5.2

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOD aNIaing "m'a 21028

ZSBLL—d # NOLVMLISIOZN 40 AULVOLILNID 5 SNOISIATY S0 ToM
SHIINIONI TVNOISSIAONd 40 QuVOE SVXIL SNOLLDIS SSONO TYILLHIA Slalle| = m_
LBLE°6S9°CLR FON Suoyd . o el B W
S6SEE "14 OOLIDA 0SZ Xo8 'O'd \Su@. LIRS ub Javd —|= = J°
"ONI *SINVLINSNOD SNIGTING NN J 6_

40040 1331S o alnl|g =

£ZL¥OL# "I'd SWIEL NYL-YWHIHL w2 e el2 L
"3'd PIUYDS ‘4 UOPUA]  :Ag peipdeid sjuswinSog :10N00dd E|318]|5]8 5

INTERIOR

|

7“3 \ VERTICAL CROSS SECTION

W Outswing configuration
(X Only)

EXTERIOR
40

EXTERIOR

N

1"\ VERTICAL CROSS SECTION
w Inswing shown - Qufswing also approved

DRYWALL

INTERIOR

13
VERTICAL CROSS SECTION
Inswing configuration

EXTERIOR

(27
N

N

.
It

B anodedi

WOOD
CONCRETE

®

INTERIOR

7’9 'BMp'TE-0£Zi-XL\sBuIMeRIg DaMY "a\069T 4d\OOLT - T09T [0id\siap|o4 13afoud\s1dafoud - v\y



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 7.2

DRYWALL\.‘.:_:
(W)~

INTERIOR

A\

u\‘
=)

EXT. SHEATHING

—
o
y—

=%

==

. EXTERIOR

/ 1"\ VERTICAL CROSS SECTION

\U Inswing shown - Qutswing also approved

INTERIOR EXTERIOR
¥ /i

@ J ) woop

o P ) CONCRETE

|

/“2"\ VERTICAL CROSS SECTION
w Inswing configuration

13

SEE NOTE 1 A\

/
EXTERIOR / INTERIOR

)

Note:
1. Sidelite assembly screws located
3" from each end (2 total).

/~ 3"\ VERTICAL CROSS SECTION
w Outswing configuration

W
0 oy
£% 0
Yo @& ©
EX o W
S L0z
i Om [C]
a Z &
W lfs Lt
c o =
[+] ou!
F4
gé g.‘_"” o
5 HEZ &
E, o @
>, U
%05 it
omn o
5‘ Uﬂg o
O xz
] o L
4
g §% 2
g 3592 @
& oo g
o :_,E o
C
c
P 3
Lad
3 (=
0
fa]

CERTIFICATE OF REGISTRATION # F—11852

)
=
o
o
oD Ly
u:% v
}--O "
@::Q D
=, |3 e
i |o X
Lill |=| ©
T~ L
=6 |8 2
< Q
iy x| &
(&)
2 o ¥
o 'n_:
& <
[V o
>
m
(7]
zZ
o
%)
=
0
o
K
<
a
o
=
DATE: 08/16/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4231

SHEET _7 oF 10

© 2012 R.W. BUILDING CONSULTANTS INC.



Ll
aq
; % 0
2 @y g8 8y
Giet w2y @
501 5 Boa 32
S (] o % § z
oW 2 <22 Qo
2X FRAMING TO BE DESIGNED BY THE IS > 3g% pk
7 ENGINEER OR ARCHITECT OF RECORD - nd ik g2 ﬁ-o-,
(Tv.) BASED ON WIND LOADS AND THE mve) = Maggidee™ & 88 Ee
¢ 3 CLADDING BEING USED. ' 3 - 3 238 2,0
& ' — 3 ~ () I 3 7 =) g 3og .o
b, I " & —— o 502 gu
= 7 (TYP.) _—| - maa g g
= z Y | * i— .g é mE
1 T 1 T T[] TR 1 T 1 m : R ik
|- - —~T i | i 3 =
R \ SEE DETAIL 2 I SEE DETAIL 2 8
o g o E
i = TYP.HEAD o | x TYP. HEAD LI | I
N & JAMBS \ FRAMING ™ ] & JAMBS SHOWN FOR o
- ASIRAGAL I v poorA||[= M REFERENCE  H —|[—F Se | E
SHOWN FOR FRAME ONLY 1 78 |, &
+ 3 REFERENCE s TYP. o <S [ 8
o < &= =4 |@l =
ONLY SE =E em |2
- o (BT ol M1 ~lge | 2 |3 g
; 20 <G . o |8 <
i =0 - i . < &
& (1) woop o 5 z
= = i T = = -
SEE DETAIL 1 % %
(P) CONCRETE||  ee peray | I
L \ | :
L - — St e —_— (aa]
i U 114 1 ||F IRt N I
HINGE JAMB FRAME ANCHORING FLOOR SUBSTRATE MATERIAL FRAME égfgomm; ASTRAGAL STRIKE
X% CONCRETE (MIN. 3000 PSI) %
FLOOR SUBSTRATE MATERIAL WOOD (8.G. >=0.42) o
CONCRETE (MIN. 3000 PSI) %)
WOOD (S.G. >=0.42) Q
/
11 @
oul
@ o) :
P~ ~ ;:’ = .\\é‘ﬁ > 2 E/ g
o
. =z
.m = l} DaTE: 08/16/12
DETAIL 1 DETAIL 1 C DETAIL 2 LATCH & DEADBOLT DETAIL HINGE DETAIL SCALE:  N.T.S.
Astragal throw bolt hole Astragal Strike Plate Astragal Strike Plate DWG. BY: JK
(outswing) (inswing) ok B LFS
DRAWING NO.:
TX—4231
SHEET _8 oF 10

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 8.2

© 2012 R.W. BUILDING CONSULTANTS INEC.



*ON| SINVLINSNOJO aNIging "Mm"d 2102 @

ZG8LL—4 # NOUVMISIORN 40 ILVOLILNIO SNOISIAZY :
SMIINIONT TVNOISS3J08d 40 Quvog SvXal SIVIIA TYOVHLSY A8 J1va [ON| ™ uilx|o - m_
o . - N[ S| M
L6LE'6SO'CLE ION oucud - ol = 3 Bl
SBSEE 4 O9HIDA OFZ XoF 'O'd \Su@. ATBAESEY 0 LHvd S E 3% |°
"ONI ‘SLINVLINSNOD ONIQINE = HE V._A 9_
d00a 7331S o & & 2=
cZIvoL# "3'd SVXIL NAL—YWIHL i W_ o|¢|2 m
*I'd "IPIWYDS ‘4 uopukl :Ag peJtpdedd sjuswinoog :12NAaodd m a8 m & %
0P
\ | |
@ / 4
& =
T8
® w =
5 F__ ia
(32 ] I
.M" .b |/ M
N | mo
4.
4 .
X e &
>
e
o «89°C
=
&
o’ o =i
i £ 4 ®
I T &
in
o
o
X llle > i
=
<
P
= (@]
_.ﬁ_ o
-t . _uln
L & B
g ™ < .
& , - 2%
© I & in T =
Py S50
(=] O 0
1 A w
k e
| | Q<
f & 9
< <
 TO
BOTTOM I
O
zl

76 ‘BMPTE-0EZy-X1\sBUIMRIg DFMY "ANOGIT 4d\00LT - TO9T foid\s1ap|od 1aloid\s1oafoud - v\y



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1630\D. RWBC Drawings\TX-4230-31.dwg, 10.2

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

B 2X BUCK (SG >=0.42) wOOD

C 1/4" MAX. SHIM SPACE -

F #10 X 3" PFH WOOD SCREW STEEL

J #10 X 2-1/2" PFH WOOD SCREW STEEL

M #10 X 2" PFH WOOD SCREW STEEL

P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

] JAMB - FINGER JOINTED PINE WwOOD

7 WEATHERSTRIP (Long Reach by Therma-Tru) FOAM

8 SWEEP VINYL

9 WEATHERSTRIP (Medium Reach by Therma-Tru) FOAM
13 INSWING THRESHOLD ALUM/COMP
14 OUTSWING THRESHOLD ALUM/COMP
23 [#10X1-1/2" PANHEAD SMS ~ STEEL ]
24 #10 x 1" PFH WOOD SCREW STEEL
26 ASTRAGAL STRIKE PLATE STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
40 DOOR PANEL -
44 HURRICANE ASTRAGAL =
45 ASTRAGAL FLUSH BOLT -
46 ASTRAGAL FLUSH BOLT RETAINER -
50 SIDELITE PANEL -
65 INSWING SIDELITE ADAPTER PVC
66 OUTSWING SIDELITE ADAPTER PVC

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

TANCHOR:
ITW " 11]
e 1-3/ 2-1/2 3
E Lco n " n 11}
ULTRACON®| V/ 1-3/4 1 3

_————— 456"
4

I '
1 <

NN

2 — |

( : ) WOOD JAMB

t

0.45"

[

. SWEEP

!

( : ) WEATHERSTRIP
Long Reach

’—— 1.5" —=|

5.83" -

5.83" -

14 OUTSWING THRESHOLD

0.74"
1.08"

~

( : ) WEATHERSTRIP
Medium Reach

Th‘j

o

¥

i 8
o

85 INSWING SIDELITE
ADAPTER

2127
o

N

56 OUTSWING SIDELITE
ADAPTER

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

THERMA-TRU
STEEL DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

REVISIONS

Lt
<
=
o
=
2

oATE: 08/16/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4231

sieer 10 oF 10

© 2012 R.W. BUILDING CONSULTANTS INC.



